
1 https://jpw-catalog-qa-b2c-2.corevist.cloud/dt45-base-assembly
7/4/25

DT45 Base Assembly
Product Images

https://jpw-catalog-qa-b2c-2.corevist.cloud/dt45-base-assembly


2 https://jpw-catalog-qa-b2c-2.corevist.cloud/dt45-base-assembly
7/4/25

Description

Index
Number

Part
Number Description Size Qty

1 DT45-101 Worktable  1

2 DT45-102 Base Guide Rod  2

3 TS-1523041 Socket Set Screw M6x12 15

4 DT45-104 Copying Template  1

5 DT45-105 Locking Handle M6x35 2

6 DT45-106 Scale  2

7 DT45-107 Scale  2

8 DT45-108 Adjustment Piece  2

9 DT45-109 Clamp Bar  2

10 DT45-110 Key 6x6x30 2

11 DT45-111 Hub  2

12 TS-1540081 Hex Nut M12 2

13 DT45-113 Lever  2

14 DT45-114 Handle  2

15 DT45-115 Locking Handle M6x25 2

16 DT45-116 Locking Handle M6x45 2

17 DT45-117 Sliding Rod  2

18 DT45-118 Adjustment Piece  2

19 DT45-119 Fence  2

20 DT45-120 Locking Handle M8x25 6

21 TS-1504061 Socket Head Cap Screw M8x30 1

22 DT45-122 Buffer Pad  2

23 TS-1550061 Flat Washer M8 9

https://jpw-catalog-qa-b2c-2.corevist.cloud/dt45-base-assembly


3 https://jpw-catalog-qa-b2c-2.corevist.cloud/dt45-base-assembly
7/4/25

24 TS-1490031 Hex Cap Screw M8x20 8

25 DT45-125 Buffer Pad  2

26 DT45-126 Adjustment Screw  1

27 TS-1504071 Socket Head Cap Screw M8x35 2

28 DT45-128 Knurled Knob  1

29 DT45-129 Adjustment Seat  1

30 DT45-130 Guide Rod  1

31 DT45-131 Clamping Seat  1

32 DT45-132 Locking Handle M8x35 1

33 DT45-133 Adjustment Plate  1

34 TS-1504041 Socket Head Cap Screw M8x20 1

35 DT45-135 Switch Box  1

36 TS-1550041 Flat Washer M6 2

37 TS-1503041 Socket Head Cap Screw M6x16 2

38 DT45-138 Contactor  1

39 DT45-139 Switch Cover  1

40 TS-1502031 Socket Head Cap Screw M5x12 2

41 DT45-141 Scale  2

42 DT45-142 Buffer Pad  2

43 TS-1550041 Flat Washer M6 2

44 TS-1503051 Socket Head Cap Screw M6x20 2

45 TS-1524041 Socket Set Screw M8x16 1

46 TS-2361081 Lock Washer M8 3

47 DT45-147 Fence  2

https://jpw-catalog-qa-b2c-2.corevist.cloud/dt45-base-assembly


4 https://jpw-catalog-qa-b2c-2.corevist.cloud/dt45-base-assembly
7/4/25

Additional Information

Stock Number 1791304-1

Products in this set

https://jpw-catalog-qa-b2c-2.corevist.cloud/dt45-base-assembly

